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↓ X , Y ,WHIR

9) (2+4)(y(+4)-(xy +4)2
9) (x*+9)(yz+ 4)(wi+ 4)(, (xy+y((yw+ y)(wX+4)

2 X , Y ,We

d (x =+ yz)(y
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+w2)xy2(x +w)2
b) (x

=

+ yz)/yz+w4(w+X* -Xyw(x+y)(y +w)(w+X)

3 FXYER
4) (x*+9)(y7+25)(xy + 10)2
9) (x ++4)(yz+ 23)x(5x + 2y)2

4. XIYER

u(x=+ 9)(x2+ y2) = (x
=

+3y)2
8) (x*+q)(X

*
+ yz) -x- (y + 3)2

2) (x
2
+ 9)(y2+9)(x-+y z2(X*+37)(y2+3x)2

5) (x 2+ 9)(yz+9)(x3+yz2y(x+3x)(y2+3y)3

5 XYER
1) (4x+ 31(12+ yz)4(xy +313
8) (3x+4)(12 + yz)34(3x + y)2

6 XIYEIR
2) 17(x2+y2 > (4x+ y)2
b) 25/x3+y4x(3x + 4y)2
x)5(2x+3y26(x+y)2
5) =(3x7+4y2322(X+ y)2
2) = (3x+ 4y

=)y(3x+ 44)
2

62)3)x* + 2y2)-(X + 2y/2



= Av x , YHR nou X+ Y= 5 va betitzofax16To us
Mayabtabus A = 2 x+by 2

8 Av XIYHR nou ax +y = 3 va belihitoax16eo in5
Magastabus A = X*+ 2y3

9 Av X ,YFIR nou X+y= 10 va bettin figsen has
n Haxism zi 245 nagabeabus A = 2x + Y

10 Av X ,Y nou 2x+y= G va seeftinhijzu has
↑

↳ Haylsen zpn eus napagtabus A = X+ Y

11 Av X IYHR non 2 x+y = 3 va Settico fax16205
Magastabus A = 5 x*+ 212

12 [upfa prinous sm nosfea se Evo efin fata has
If to fra natabhfuajoufit Isonstupo epijuro has
It to isjo etrpajuno. Na betiti 67 nolo shitic
nefnte va notouft to Guppa ja va Esaxigtonopti
to ideoispe ur efbatir ter dio Exupceuv ↑

13 Zippa prikous Im hobfrar 67 Gio Mintata non
he zoa natabutrajat oppopivioor ondior to
pinos firo findabio zounjatous has put to360
kukdo. NX epepti 67 nolo suptio pink vanoporti
to Guptagla va FaxistonsnatioDohatur
Elbadri zur do Eyhporauv .


